

British Journal of Mathematics & Computer Science 18(6): 1-9, 2016, Article no.BJMCS.27176

ISSN: 2231-0851

SCIENCEDOMAIN international



www.sciencedomain.org

Covariant Almost Analytic Vector Field On Q-Quasi Umbilical Hypersurface of a Trans Sasakian Manifold

Mohd Danish Siddiqi^{1*}, Janardan P. Ojah² and A. Haseeb¹

¹Department of Mathematics, College of Science, Jazan University, Jazan, K. S. A. ²Department of Mathematics, SRMGPC, Faizabad Road, Lucknow-227105, India.

Authors' contributions

This work was carried out in collaboration between all authors. All authors designed the study, performed the theoretical study and analysis, wrote the protocol, and wrote the first draft of the manuscript and managed literature searches. Author MDS managed the analyses of the study and literature searches. All authors read and approved the final manuscript.

Article Information

DOI: 10.9734/BJMCS/2016/27176

Editor(s).

(1) Dijana Mosic, Department of Mathematics, University of Nis, Serbia.

(2) Tian-Xiao He, Department of Mathematics and Computer Science, Illinois Wesleyan University, USA.

Reviewers:

(1) Sujit Ghosh, Madanpur K. A. Vidyalaya (H.S.), Nadia, India.

(2) Ravindra V. Saraykar, RTM Nagpur University, Nagpur, India.

(3) Mikola (Nikolay) Ivanovich Yaremenko, National Technical University of Ukraine, Kyiv Polytechnic Institute, Ukraine.

Complete Peer review History: http://www.sciencedomain.org/review-history/16412

Received: 22nd May 2016

Accepted: 19th July 2016

Published: 1st October 2016

Original Research Article

Abstract

The present paper aims to study the axioms of covariant almost analytic vector field on Q-quasi umbilical hypersurface M of a trans-Sasakian manifold \bar{M} with structure (ϕ, g, u, v, λ) and obtained the scalars a and b using 1-forms u, v covariant almost analytic for the hypersurface M to be totally umbilical and cylindrical.

Keywords: Trans-Sasakian manifolds; covariant almost analytic vector field; Q-quasi umbilical hypersurface.

2010 Mathematics Subject Classification: 53C21, 53C25, 53C10.

^{*}Corresponding author: E-mail: anallali@yahoo.com;

1 Introduction

The study of hypersurfaces with almost contact structures are important parts of differential geometry. It was 1967, M. Okumura [1] studied the totally umbilical hypersurfaces of a product Riemannian manifold and hypersurface of an almost r-paracontact Riemannian manifold studied by A. Bucki [2]. In 1970, S. I. Goldberg and K. Yano [3] studied the geometry of non-invariant hypersurfaces of almost contact manifolds. D. E. Blair [4] discussed the case of almost contact manifolds with Killing structure tensor. In 1989, D. Narain studied differential geometry of hypersurfaces with (f,g,u,v,λ) -structures [5]. Moreover, D. Narain and others also studied the non-invariant hypersurfaces of Sasakian, nearly Sasakian and para Sasakian manifold in (see [6], [7], [8]) respectively. After that R. Prasad and M. M. Tripathi [9] studied the transversal hypersurfaces of Kenmotsu manifolds. In 1985, J. A. Oubina introduced a new class of almost contact metric manifold known as trans-Sasakian manifold [10]. This class contains α -Sasakian and β -Kenmotsu manifold. Thus motivated by the studies referred above in the present paper, we have studied the covariant almost analytic vector filed on Q-quasi umbilical hypersurface of a trans-Sasakian manifold.

The present paper is organized as follows: In section 2, we give the brief introduction about the trans-Sasakian manifold. In section 3, the hypersurfaces of a trans-Sasakian manifold with (ϕ, g, u, v, λ) -structure have been discussed. In section 4, we express the Q-quasi umbilical hypersurface and in section 5, we obtained some results on covariant almost analytic vector field on Q-quasi umbilical hypersurface of a trans-Sasakian manifold.

2 Basic Results and Definitions

Let \bar{M} be a (2n+1) dimensional manifold with almost contact metric structure $(\bar{\phi}, \xi, \eta, \bar{g})$, where $\bar{\phi}$ is a (1,1) tensor field, ξ is a vector field, η is a 1-form and \bar{g} is a compatible Riemannian metric such that

$$\bar{\phi}^2 = -I + \eta \otimes \xi, \quad \phi \xi = 0, \quad \eta \circ \phi = 0, \quad \eta(\xi) = 1, \tag{2.1}$$

$$\bar{g}(\bar{\phi}X,\bar{\phi}Y) = \bar{g}(X,Y) - \eta(X)\eta(Y), \tag{2.2}$$

$$\bar{g}(X,\phi Y) = -\bar{g}(\phi X, Y), \quad \bar{g}(X,\xi) = \eta(X). \tag{2.3}$$

An almost contact metric structure $(\bar{\phi}, \xi, \eta, \bar{g})$, is called an trans Sasakian manifold if

$$(\bar{\nabla}_X \bar{\phi})(Y) = \alpha(\bar{g}(X, Y)\xi - \eta(Y)X) + \beta(\bar{g}(\phi X, Y)\xi - \eta(Y)\bar{\phi}X) \tag{2.4}$$

and it follows

$$\bar{\nabla}_X \xi = -\alpha \bar{\phi} X + \beta (X - \eta(X)\xi), \tag{2.5}$$

where $\bar{\nabla}$ denotes the Riemannian connection of the Riemannian metric \bar{g} , then the structure $(\bar{\phi}, \xi, \eta, \bar{g})$ is called a trans-Sasakian manifold.

If we define $G(X,Y) = \bar{g}(\phi X,Y)$, then we also find

$$G(X,Y) + G(Y,X) = 0,$$
 (2.6)

$$G(X, \phi Y) = G(Y, \phi X), \tag{2.7}$$

$$G(\phi X, \phi Y) = G(X, Y). \tag{2.8}$$

3 Hypersurface of a Trans-Sasakian Manifold with (ϕ, q, u, v, λ) -structure

Let us consider a 2n-dimensional manifold M embedded in \bar{M} with embedding $i: M \to \bar{M}$. The map i induces a linear transformation map $B, B: T_p \to T_{ip}$. Let an affine unit normal N of M is in such way that $\bar{\phi}N$ is always tangent to the hypersurface and satisfying the linear transformations

$$\bar{\phi}BX = B\phi X + u(X)N,\tag{3.1}$$

$$\bar{\phi}N = -BU,\tag{3.2}$$

$$\xi = BV + \lambda N,\tag{3.3}$$

$$\eta(BX) = v(X),\tag{3.4}$$

where ϕ is (1,1) type tensor; U, V are vector fields; u, v are 1-form and λ is a C^{∞} -function. If $u \neq 0$, then M is called a non-invariant hypersurface of \bar{M} .

Operating (3.1), (3.2), (3.3) and (3.4) by $\bar{\phi}$ and using (2.1), (2.2), and (2.3) and taking tangent and normal parts separately, we get the following induced structures on M

$$\phi^{2}X = -X + u(X)U + v(X)V, \tag{3.5}$$

$$u(\phi X) = \lambda v(X), \qquad v(\phi X) = -\eta(N)u(X),$$
 (3.6)

$$\phi U = -\eta(N)V, \qquad \phi V = \lambda U, \tag{3.7}$$

$$u(U) = 1 - \lambda \eta(N), \qquad u(V) = 0,$$
 (3.8)

$$v(U) = 0,$$
 $v(V) = 1 - \lambda \eta(N)$ (3.9)

and from (2.2) and (2.3), we get the induced metric g on M.

$$q(\phi X, \phi Y) = q(X, Y) - u(X)u(Y) - v(X)v(Y), \tag{3.10}$$

$$g(U, X) = u(X), g(V, X) = v(X).$$
 (3.11)

If we consider $\eta(N) = \lambda$, we get the following structures on M

$$\phi^2 = -I + u \otimes U + v \otimes V, \tag{3.12}$$

$$\phi U = \lambda V, \qquad \phi V = \lambda U,$$
 (3.13)

$$u \circ \phi = \lambda v, \qquad v \circ \phi = -\lambda u,$$
 (3.14)

$$u(U) = 1 - \lambda^2, \qquad u(V) = 0,$$
 (3.15)

$$v(U) = 0,$$
 $v(V) = 1 - \lambda^2.$ (3.16)

A manifold M with a metric g satisfying (3.10), (3.11) and (3.12) is called manifold with (ϕ, g, u, v, λ) structure. Let ∇ be the induced connection on the hypersurface M of the affine connection $\bar{\nabla}$ of \bar{M} .

Now the Gauss and Weingarten equations are given respectively by

$$\bar{\nabla}_{BX}BY = B\nabla_X Y + h(X,Y)N,\tag{3.17}$$

$$\bar{\nabla}_{BX}N = BHX + w(X)N, \quad \text{where } g(HY, Z) = h(Y, Z).$$
 (3.18)

Here h and H are the second fundamental tensor of type (0,2) and (1,1) and w is a 1-form.

Now differentiating (3.1), (3.2), (3.3) and (3.4) covariantly and using (3.17), (3.18) and (2.4) and again re-using (3.1), (3.2), (3.3) and (3.4), we get

$$(\nabla_Y \phi)(X) = \alpha \left\{ v(X)Y - g(X,Y)V \right\} + \beta \left\{ \lambda g(\phi X, Y)V - v(Y)\phi X \right\}$$
(3.19)

$$-h(X,Y)U - u(X)HY$$
,

$$(\nabla_Y u)(X) = \alpha \lambda g(X, Y) + \beta \left\{ \lambda g(\phi X, Y) - u(X)v(Y) \right\} + g(X, \phi Y) - h(X, \phi Y), \tag{3.20}$$

$$(\nabla_Y v)(X) = \alpha g(\phi Y, X) - \beta \left\{ \lambda g(Y, X) - u(X)u(Y) - v(X)v(Y) \right\} + \lambda h(X, Y), \tag{3.21}$$

$$\nabla_Y U = \phi H Y + \beta w(Y) U - \alpha \lambda Y, \tag{3.22}$$

$$\nabla_Y V = \alpha \phi Y + \lambda H Y, \tag{3.23}$$

$$h(Y,V) = \alpha u(Y) + \beta \lambda w(X), \tag{3.24}$$

$$h(Y,U) = u(HY) + w(X).$$
 (3.25)

Since h(X,Y) = g(HX,Y), then from (2.3) and (3.25), we get

$$h(Y,U) = 0 \Rightarrow HU = 0. \tag{3.26}$$

4 Q-Quasi Umbilical Hypersurface

 ${\cal M}$ is called Quasi-umbilical hypersurface if

$$h(X,Y) = ag(X,Y) + bq(X)q(Y), \tag{4.1}$$

where a,b are scalar functions, q is a 1-form and if g(Q,X)=q(X), where Q is a vector field, then M is called Q-quasi umbilical hypersurface. If $a=0, b\neq 0$, then Q-quasi umbilical hypersurface M is called cylindrical hypersurface. If $a\neq 0$. b=0, then Q-quasi-umbilical hypersurface M is called totally umbilical and if a=0, b=0, then Q-quasi umbilical hypersurface is totally geodesic. By using (4.1) in (3.19)-(3.25), we get the following:

$$(\nabla_Y \phi)(X) = \alpha \left\{ v(X)Y - g(X,Y)V \right\} + \beta \left\{ g(\phi X, Y)V - v(Y)\phi X \right\} \tag{4.2}$$

$$-\{ag(X,Y) + bq(X)q(Y)\} U - u(Y) \{aY + bq(Y)Q\},$$

$$(\nabla_Y u)(X) = \{(1+a)g(\phi X, Y)\} - \beta \{\lambda g(\phi X, Y) - u(X)w(Y)\}$$
(4.3)

$$+\alpha\lambda g(X,Y) + bq(X)q(Y),$$

$$(\nabla_Y v)(X) = \alpha g(\phi Y, X) - \beta \{\lambda g(Y, X) - u(X)u(Y) - v(X)v(Y)\}$$

$$(4.4)$$

$$+\lambda \left\{ag(X,Y) + bq(X)q(Y)\right\},$$

$$\nabla_Y U = \beta w(Y)U + \{a\phi Y + bq(Y)Q\} - \alpha \lambda Y, \tag{4.5}$$

$$\nabla_Y V = \alpha \phi Y + \lambda \left\{ aY + bq(Y)Q \right\}, \tag{4.6}$$

$$h(Y,V) = ag(V,Y) + bq(V)q(Y), \tag{4.7}$$

$$|u(Q)|^2 = -\frac{a}{b}(1 - \lambda^2) + w(X). \tag{4.8}$$

Also from (3.15), (3.24) and (4.1), we get

$$w(U) = \frac{\alpha(1 - \lambda^2)}{\beta\lambda} \tag{4.9}$$

5 Covariant Almost Analytic Vector Field on Q-quasi Umbilical Hypersurface

1-form u and v are said to be covariant almost analytic if

$$u\left\{(\nabla_X\phi)(Y) - (\nabla_Y\phi)(X)\right\} = (\nabla_{\phi X}u)(Y) - (\nabla_Xu)(\phi Y) \tag{5.1}$$

and

$$v\left\{(\nabla_X\phi)(Y) - (\nabla_Y\phi)(X)\right\} = (\nabla_{\phi X}v)(Y) - (\nabla_Xv)(\phi Y). \tag{5.2}$$

Theorem 5.1. On Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \overline{M} , if 1-form u be a covariant almost analytic, then we have

$$\alpha \{v(Y)u(X) - v(X)u(Y)\} = -(2 + 2a + 2\beta)g(\phi X, \phi Y) - 2\alpha\lambda g(\phi X, Y)$$

$$-bq(\phi Y)q(\phi X) + \beta \{u(\phi Y)w(X) - u(Y)w(\phi X)\}$$

$$+2bq(X)u(Y)u(Q).$$
(5.3)

Proof. From equation (4.2), we have

$$(\nabla_Y \phi)(X) = \alpha \{ v(X)Y - g(X,Y)V \} + \beta \{ g(\phi X, Y)V - v(Y)\phi X \}$$
$$- \{ ag(X,Y) + bg(X)g(Y) \} U - u(X) \{ aY + bg(Y)Q \}$$

and

$$(\nabla_X \phi)(Y) = \alpha \{ v(Y)X - g(Y, X)V \} + \beta \{ g(\phi Y, X)V - v(X)\phi Y \}$$
$$- \{ ag(Y, X) + bq(Y)q(X) \} U - u(Y) \{ aX + bq(X)Q \}.$$

Now from above equations we have

$$(\nabla_{X}\phi)(Y) - (\nabla_{Y}\phi)(X) = \alpha \{v(Y)X - v(X)Y\} + \beta \{v(Y)\phi X - v(X)\phi Y\}$$

$$-u(Y) \{aX + bq(X)Q\} + u(X) \{aY + bq(Y)Q\}$$

$$u\{(\nabla_{X}\phi)(Y) - (\nabla_{Y}\phi)(X)\} = \alpha \{v(Y)X - v(X)Y\}$$

$$+b\{u(X)q(Y) - q(X)u(Y)\} u(Q).$$
(5.4)

Also from equation (4.3)

$$(\nabla_X u)(Y) = -\{(1+a)g(\phi Y, X)\} + \beta \{\lambda g(\phi Y, X) - u(Y)w(X)\}$$
$$+\alpha \lambda g(Y, X) + bq(\phi Y)q(X)$$

replacing ϕ by ϕX and ϕY in the last equation, we find respectively

$$(\nabla_{\phi X} u)(Y) = -\{(1+a)g(\phi Y, \phi X)\} + \beta \{\lambda g(\phi Y, \phi X) - u(Y)w(\phi X)\} + \alpha \lambda g(Y, \phi X) + bq(\phi Y)q(\phi X)$$

and

$$(\nabla_X u)(\phi Y) = -(1+a)g(\phi X, \phi Y) + bq(Y)q(X) - bu(Y)q(U)q(X) - \beta u(\phi Y)w(X) - \alpha \lambda g(X, \phi Y).$$

From last two equations we find

$$(\nabla_{\phi X}u)(Y) - (\nabla_X u)(\phi Y) = -(2 + 2a + 2\beta)g(\phi X, \phi Y) - bq(\phi Y)q(\phi X)$$

$$+ bu(Y)q(U)q(X) + \beta \left\{ u(\phi Y)w(X) - u(Y)w(\phi X) \right\}$$

$$- bq(Y)q(X) + \alpha \lambda g(X, \phi Y) - \alpha \lambda g(\phi X, Y)$$

$$(5.5)$$

and using equation (5.1) in (5.4) and (5.5), we get (5.3).

Corollary 5.1. On Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \overline{M} , if 1-form u be a covariant almost analytic, then we also have

$$2\alpha\lambda^2 = 0, \quad \alpha \neq 0, \tag{5.6}$$

where λ is covariant constant along \bar{M} .

Proof.

$$\begin{split} \alpha(1-\lambda^2)^2 &= -(2+2a+2\beta).0 + 2\alpha\lambda^2(1-\lambda^2) + \beta\lambda(1-\lambda^2)w(U) \\ \alpha(1-\lambda^2) &= +2\alpha\lambda^2(1-\lambda^2) + \beta\lambda(1-\lambda^2)w(U) \\ \alpha(1-\lambda^2) &= +2\alpha\lambda^2(1-\lambda^2) + \beta\lambda\left\{\frac{\alpha(1-\lambda^2)}{\beta\lambda}\right\} \\ \alpha(1-\lambda^2) &= 2\alpha\lambda^2 + \alpha(1-\lambda^2) \\ 2\alpha\lambda^2 &= 0, \qquad \alpha \neq 0, \end{split}$$

which shows that λ is covariant constant along \bar{M} .

Theorem 5.2. On cylindrical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} with covariant analytic vector fields U and V, we have

$$\alpha \{v(Y)u(X) - v(X)u(Y)\} = -(2 + 2\beta)g(\phi X, \phi Y) - 2\alpha\lambda g(\phi X, Y)$$

$$-bq(\phi Y)q(\phi X) + \beta \{u(\phi Y)w(X) - u(Y)w(\phi X)\}.$$
(5.7)

Proof. Putting a=0 in equation (5.3) and using u(Q)=0, we get equation (5.7).

Corollary 5.2. On cylindrical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} with covariant analytic vector fields U, V, we have

$$\alpha u(Y) + (1+\beta)v(Y) = 0,$$
 (5.8)

$$q(Q) = 0. (5.9)$$

Proof. Putting X = V in equation (5.7), we get

$$-\alpha(1-\lambda^2)u(Y) = -(2+2\beta)g(\phi V, \phi Y) - 2\alpha\lambda g(\phi V, Y)$$

$$-bq(\phi Y)q(\phi V) + \beta \left\{ u(\phi Y)w(V) - u(Y)w(\phi V) \right\}$$

$$-\alpha(1-\lambda^2)u(Y) = -(2+2\beta)v(Y)\lambda^2 - 2\alpha\lambda^2 u(Y) + \beta \left\{ u(\phi Y)w(V) - u(Y)w(\phi V) \right\}$$

$$-\alpha(1-\lambda^2)u(Y) = -(2+2\beta)v(Y)\lambda^2 - 2\alpha\lambda^2 u(Y) + \beta u(\phi Y)w(V) - \beta\lambda u(Y)w(U)$$

$$\alpha(3\lambda^2 - 1)u(Y) = -\beta\lambda u(Y) \left\{ \frac{\alpha(1-\lambda^2)}{\beta\lambda} \right\} - (2+2\beta)v(Y)\lambda^2$$

$$2\alpha\lambda^2 u(Y) = -(2+2\beta)v(Y)\lambda^2$$

$$\alpha u(Y) + (1+\beta)v(Y) = 0.$$

Also from equation (5.7), we get

$$u(X)V - v(X)U = -(2+2\beta)\phi X - 2\alpha\lambda\phi X - b\phi Qq(\phi X) - bq(X)Q + \beta \left\{w(X)\phi U - w(\phi X)U\right\}$$

which on contracting with respect to X gives

$$0 = -bq(\phi^2 Q) - bq(Q) + \beta \left\{ \lambda w(X) - \lambda w(V) \right\}$$

or

$$bq(Q) = (V\lambda) = 0,$$

since $b \neq 0$, so q(Q) = 0.

Theorem 5.3. On Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} , if 1-form u is covariant almost analytic and M is totally umbilical, then we have

$$\alpha \{v(Y)u(X) - v(X)u(Y)\} = -(2 + 2a + 2\beta)g(\phi X, \phi Y) - 2\alpha\lambda g(\phi X, Y) + \beta \{u(\phi Y)w(X) - u(Y)w(\phi X)\}$$
(5.10)

Proof. Putting b = 0 in equation (5.3), we get equation (5.10).

Corollary 5.3. On Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} , if 1-form u is covariant almost analytic and M is totally umbilical, then we have

$$a = \left\{ \frac{\alpha(1 - 3\lambda^2)v(Y)}{\lambda} \right\} - \left\{ \frac{\alpha(1 - 3\lambda^2)}{\lambda} + 2(1 + \beta) \right\} u(Y)$$
 (5.11)

Proof. Put X = U in equation (5.10), we get

$$\begin{split} \alpha(1-\lambda^2)v(Y) &= -(2+2a+2\beta)v(\phi Y) + 2\alpha\lambda^2 v(Y) + \beta \left\{ u(\phi U)w(X) - u(Y)w(\phi U) \right\} \\ \alpha(1-\lambda^2)v(Y) &= -(2+2a+2\beta)v(\phi Y) + 2\alpha\lambda^2 v(Y) + \beta \left\{ u(\phi Y) \frac{\alpha(1-\lambda^2)}{\beta\lambda} \right\} \\ \alpha(1-\lambda^2)v(Y) - 2\alpha\lambda^2 v(Y) &= -(2+2a+2\beta)u(Y) + u(Y) \left\{ u(\phi Y) \frac{\alpha(1-\lambda^2)}{\lambda} \right\} \\ \alpha(1-3\lambda^2)v(Y) &= u(Y) \left\{ -2\lambda - 2a\lambda - 2\beta\lambda + \alpha(1-\lambda^2) \right\} \\ \alpha(1-3\lambda^2)v(Y) - \alpha(1-\lambda^2)u(Y) &= -2u(Y) \left\{ \lambda + a\lambda + \beta\lambda \right\} \\ a\lambda &= \alpha(1-3\lambda^2)V - \alpha(1-\lambda^2)U + 2U\lambda + 2\beta\lambda U \end{split}$$

which on further solving gives (5.11).

Theorem 5.4. On Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} , if 1-form v is covariant almost analytic, then we have

$$\alpha \left\{ u(X)v(Y) - u(Y)v(X) \right\} = -2\alpha g(\phi X, \phi Y) + 2(\lambda + \beta)ag(\phi X, Y)$$

$$+ \lambda b \left\{ q(\phi X)q(Y) - q(X)q(\phi Y) \right\}$$
(5.12)

Proof. From equation (4.2), we get

$$(\nabla_X \phi)(Y) - (\nabla_Y \phi)(X) = \alpha \{v(Y)X - v(X)Y\} + \beta \{v(Y)\phi X - v(X)\phi Y\}$$
$$- u(Y) \{aX + bq(X)Q\} + u(X) \{aY + bq(Y)Q\}$$
$$(\nabla_X \phi)(Y) - (\nabla_Y \phi)(X) = \beta \{v(Y)\phi X - v(X)\phi Y\} + a \{u(X)v(Y) - u(Y)v(X)\}$$
(5.13)

From (4.3), we have

$$(\nabla_{\phi X} v)(Y) = (\lambda a + \beta)g(\phi X, Y) + \lambda \left\{ u(X)v(Y) - v(X)u(Y) \right\}$$

and

$$(\nabla_X v)(\phi Y) = -\alpha \left\{ g(X, Y) - u(X)u(Y) - v(X)v(Y) \right\} + (\lambda - \beta)g(X, \phi Y)$$
$$+ \lambda \left\{ v(X)u(Y) - u(X)v(Y) \right\}.$$

Therefore we have

$$(\nabla_{\phi X} v)(Y) - (\nabla_X v)(\phi Y) = -2\alpha g(\phi X, \phi Y) + 2(\lambda + \beta) a g(\phi X, Y)$$

$$+ \lambda b \left\{ q(\phi X) q(Y) - q(X) q(\phi Y) \right\}.$$
(5.14)

By using equation (5.2) in (5.13) and (5.14), we get (5.12).

Theorem 5.5. Let the 1-from v be a covariant almost analytic on Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} if it is also cylindrical, then we have

$$2g(\phi X, \phi Y) = \lambda b \left\{ q(\phi X)q(Y) - q(X)q(\phi Y) \right\}$$

$$-\beta \left\{ v(Y)v(\phi X) - v(X)v(\phi Y) \right\}$$
(5.15)

with $X \neq U$.

Proof. Putting $\alpha = 0$ in equation (5.12), we obtain equation (5.15). Further X = U, then from (5.15), we have

$$\begin{split} 2g(\phi U,\phi Y) &= \lambda b \left\{ -\lambda q(V)q(Y) - q(U)q(\phi Y) \right\} \\ &- \beta \left\{ v(Y)v(\phi U) \right\} \\ &- 2\lambda g(V,\phi Y) + \beta g(V,Y)g(V,\phi U) = 0 \end{split}$$

or

$$-2\lambda v(\phi Y) + \beta v(Y)V(\phi U) = 0,$$

since $v(\phi Y) \neq 0$ and $\lambda \neq 0$, therefore $X \neq U$.

Theorem 5.6. Let the 1-form v be a covariant almost analytic on Q-quasi umbilical non-invariant hypersurface of M with (ϕ, g, u, v, λ) -structure of a trans-Sasakian manifold \bar{M} , if it is also totally umbilical, then we have

$$\alpha \left\{ u(X)v(Y) - v(X)u(Y) \right\} = -2\alpha g(\phi X, \phi Y) + 2(\lambda + \beta)ag(\phi X, Y)$$

$$-\beta \left\{ v(Y)v(\phi X) - v(X)v(\phi Y) \right\},$$

$$(5.16)$$

with $X \neq U$.

Proof. Putting b=0 in equation (5.12), we get (5.14). If we take X=U in (5.16), we get

$$a(1 - \lambda^2)v(Y) + 2(\lambda + \beta)av(Y) = 2\alpha\lambda v(\phi Y) - \beta v(Y)u(\phi U)$$
$$a\{1 - \lambda^2 + 2(\lambda + \beta) + \beta u(\phi U)\}v(Y) = -2\alpha\lambda v(\phi Y)$$
$$a\{\lambda^2 - 2(\lambda + \beta) - \beta U - 1\}v(Y) = -2\alpha\lambda^2 U$$

i.e. V and U are linearly dependent, which is a contradiction. Thus $X \neq U$.

П

6 Conclusion

In the present paper we have studied the axioms of covarinat almost analytic vector field on Q-quasi umbilical hypersurface of a trans-Sasakian manifold. We prove that Q-quasi umbilical hypersurface M with (ϕ, g, u, v, λ) and M is totally umbilical also totally geodesic are very strong assumptions they are correlated with Yang-Mills theory.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Okumura M, Totally umbilical hypersurface of locally product Riemannian manifold. Kodai Math. Sem. Rep. 1967;19:35-42.
- Bucki A, Hypersurfaces of almost r-paracontact Riemannian manifold. Tensor N. S. 1989;48(3): 245-251.
- [3] Goldberg SI, Yano K. Non-invariant hypersurfaces of almost contact manifolds. J. Math. Soc. Japan. 1970;22:25-34.
- [4] Blair DE. Almost contact manifolds with Killing structure tensor. Paciffic J. Math. 1971;39(12): 285-292.
- [5] Narain D, Hypersurfaces with (f, g, u, v, λ) -structure of an affinely cosymplectic manifold. Indian Jour. Pure and Appl. Math. 1989;20(8):799-803.
- [6] Narain D. Non-invaraint hypersurfaces of Sasakian Space forms. Int. J. Contemp. Math. Sci. 2009;4(33):1611-1617.
- [7] Narain DS. Srivastava, A note of non-invariant hypersurfaces of para-Sasakian manifold. IOSR, J. Engg. 2012;2:363-368.
- [8] Sinha BB, Narain D. Hypersurface of nearly Sasakian manifold. Ann. Fac. Sci. Dekishasa Zaire. 1977;3(2):267-280. Isometric array. Information Processing Letters. 1982;15:223-226.
- [9] Prasad R, Tripathi MM. Transversal hypersurfaces of Kenmotsu manifold. Indian Jour. Pure and Appl. Math. 2003;34(3):433-452.
- [10] Oubina JA. New class of almost contact metric structures. Publ. Math. Debrecen. 1985;32:187-193.

©2016 Siddiqi et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

http://sciencedomain.org/review-history/16412